

08/04/2023

Page 1 of 1

Vendor Ranking

04230804 Letting:

August 04, 2023 10:30 AM Call Order: 002

Contract: E4W81 Fed Aid No: N/A

District: District 4 Counties: BROWARD

Contract Time: 730 AVAILABLE DAYS Contract Desc: BROWARD COUNTY PUSH BUTTON CONTRACT TRAFFIC SIGNAL CONST **Project(s)**: 43633935201 (*)

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ARC ELECTRIC INC	Responsive	Winning bid	\$3,349,136.36	100.00%
2	AUM CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$4,557,557.00	136.08%
3	HORSEPOWER ELECTRIC, INC.	Responsive	Non-Winning Bid	\$5,858,342.50	174.92%
4	SIGNAL TECHNOLOGY AND INSTALLATION CORP.	Responsive	Non-Winning Bid	\$6,419,602.14	191.68%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:

BEGIN DATE:

08/29/23

BEGIN TIME:

10:30 AM

END DATE:

09/01/23

END TIME:

10:30 AM





Tabulation of Bids

Page 1 of 42

Letting:04230804August 04, 2023Call Order:002Contract:E4W81District:District 4Counties:BROWARDFed Aid No: N/A

Contract Time: 730 AVAILABLE DAYS Project(s): 43633935201 (*)

Contract Descr: BROWARD COUNTY PUSH BUTTON CONTRACT TRAFFIC SIGNAL CONST

The Improvements, implemented by individual Task Work Order(s)/Work Document(s) under this Contract, consist of, but are not limited to, signalization (cable, span wire, aluminum pole, steel mast arm, vehicular signal and detection, pedestrian signal and detection, mid-block, auxiliaries, cable, cable distribution, controller, pull/splice, conduit, fiber optic), concrete (removal, sidewalk, driveways, curb, gutter, prestressed pole), signing (single-post, multi-post, panel, internally-illuminated, beacon, flashing beacon, work zone), pavement markings (raised, thermoplastic, detectable), lighting (conductors), electrical (power service, service wire, disconnect, load center) throughout Broward County.

WORK DRIVEN CONTRACT: The award amount shall be based on the budgeted amount of \$1,000,000.00 and not the contractors bid total over the two (2) year term of the contract.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Department's estimated quantities and the Contractor's bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2023-24 (SECTION 7-13) FOR INSURANCE LIMITS.

Funds Approval for Fiscal Year 2024 is contingent upon Annual Legislative appropriation.

For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Pre-Qualified: Contractor must be pre-qualified in Traffic Signal.

PERFORMANCE BOND: A Contract / Performance bond is required for this project

	Line No / Item ID Alternate Item Description	Quantity Units	(1) ARC EL	ECTRIC INC	(2) AUM CONSTRUCTION INC.		(3) HORSEPOWER ELECTRIC, INC.	
ı	() indicates item is bid as Lump Sum	O.I.I.O	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount





Tabulation of Bids

Page 2 of 42

Letting	j: 04	4230804	August 04, 2023	B Cal	II Order: 002		Contract:	E4W81	
	No / Item ID Description	Alternat	e Quantity Units	(1) ARC ELE	ECTRIC INC	(2) AUM CONST	RUCTION INC.	• •	VER ELECTRIC, IC.
	•	id as Lump Sum	Jims –	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing			1	ı		
SINGLE	0700 1 11 POST SIGN, UP TO 12 SI	F&I GROUND	30.000 AS	350.00000	10,500.00	750.00000	22,500.00	1,000.00000	30,000.00
SINGLE I	0700 1 12 POST SIGN, 12-20 SF	F&I GROUND	15.000 AS	500.00000	7,500.00	1,500.00000	22,500.00	2,000.00000	30,000.00
	0700 1 50 POST SIGN,	RELOCATE	10.000 AS	250.00000	2,500.00	500.00000	5,000.00	00000.008	8,000.00
	0700 160 POST SIGN,	REMOVE	10.000 AS	20.00000	200.00	200.00000	2,000.00	150.00000	1,500.00
MULTI- F	0700 2 15 POST SIGN, I 51-100 SF	F&I GROUND	10.000 AS	2,500.00000	25,000.00	3,000.00000	30,000.00	12,000.00000	120,000.00
		GROUND MOL	10.000 JNT, AS	2,500.00000	25,000.00	1,500.00000	15,000.00	6,000.00000	60,000.00
SIGN PA	0700 3101 NEL, FURNIS D MOUNT, UI	SH & INSTALL P TO 12 SF	15.000 EA	150.00000	2,250.00	250.00000	3,750.00	500.00000	7,500.00
SIGN PA	0700 3102 NEL, FURNIS D MOUNT, 12	SH & INSTALL 2-20 SF	15.000 EA	250,00000	3,750.00	500.00000	7,500.00	00000.008	12,000.00
SIGN PA	0700 3103 MEL, FURNIS D MOUNT, 21	SH & INSTALL I-30 SF	10.000 EA	500.00000	5,000.00	1,800.00000	18,000.00	1,500.00000	15,000.00



Page 3 of 42

Florida Department of Transportation



Tabulation of Bids

Letting	g: 04	4230804	August 04, 202	23 Cal	I Order: 002		Contract:	E4W81	
	No / Item ID Description	Alternat	e Quantity Units	(1) ARC ELE	ECTRIC INC	(2) AUM CONST	RUCTION INC.		VER ELECTRIC,
() ind	licates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
		SH & INSTALL UP TO 12 SF	15.000 EA	550.00000	8,250.00	1,200.00000	18,000.00	1,000.00000	15,000.00
	0700 3202 ANEL, FURNIS EAD MOUNT,	SH & INSTALL 12-20 SF	10.000 EA	850.00000	8,500.00	1,800.00000	18,000.00	1,500.00000	15,000.00
	0700 3204 ANEL, FURNIS EAD MOUNT,	SH & INSTALL 31-50 SF	10.000 EA	850.00000	8,500.00	3,000.00000	30,000.00	3,500.00000	35,000.00
	0700 3205 ANEL, FURNIS EAD MOUNT,	SH & INSTALL 51-100 SF	10.000 EA	3,000.00000	30,000.00	5,000.00000	50,000.00	8,500.00000	85,000.00
0070 SIGN PA	0700 3501 ANEL, RELOC	ATE, UP TO 1	10.000 2 SF EA	100.00000	1,000.00	250.00000	2,500.00	300.00000	3,000.00
0075 SIGN PA	0700 3601 ANEL, REMO\	/E, UP TO 12	10.000 SF EA	100.00000	1,000.00	100.00000	1,000.00	100.00000	1,000.00
0080 SIGN PA	0700 3602 ANEL, REMO\	/E, 12-20 SF	10.000 EA	100.00000	1,000.00	200.00000	2,000.00	200.00000	2,000.00
FURNIS	0700 521 ALLY ILLUMII H & INSTALL , UP TO 12 SF	OVERHEAD	10.000 EA	3,200.00000	32,000.00	3,500.00000	35,000.00	5,500.00000	55,000.00



Page 4 of 42

Florida Department of Transportation



Tabulation of Bids

Lettina:	04230804	August 04, 2023	Call Order: 002	Contract:	E4W81
Leiling.	04230004	Audust 04. 2023	Call Orger: 002	Contract.	⊏ 47701

Letting:	04230804	August 04, 2023	B Cal	I Order: 002		Contract:	E4W81	
Line No / Iter Item Descrip		ate Quantity Units	(1) ARC ELE	CTRIC INC	(2) AUM CONST	RUCTION INC.	• •	VER ELECTRIC, C.
() indicates ite	n is bid as Lump Sur	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ON: 0001	Signing						
	UMINATED SIGN FALL, OVERHEA		3,800.00000	38,000.00	4,000.00000	40,000.00	6,000.00000	60,000.00
0095 0700 5 INTERNALLY ILI RELOCATE	50 .UMINATED SIGN	10.000 N, EA	800.0000	8,000.00	1,000.00000	10,000.00	2,000.00000	20,000.00
0100 0700 5 INTERNALLY ILI REMOVE	60 .UMINATED SIGN	10.000 N, EA	200.00000	2,000.00	500.00000	5,000.00	500.00000	5,000.00
AC POWERED,	1111 HWAY SIGN ASS F&I GROUND MO TO 12 SF OF STA	UNT,	8,500.00000	51,000.00	13,500.00000	81,000.00	14,500.00000	87,000.00
	HWAY SIGN ASS F&I OVERHEAD N		12,000.00000	72,000.00	10,000.00000	60,000.00	15,000.00000	90,000.00
SOLAR POWER	HWAY SIGN ASS ED, F&I GROUND CON, UP TO 12 S	,	12,000.00000	72,000.00	14,000.00000	84,000.00	18,000.00000	108,000.00
SOLAR POWER	HWAY SIGN ASS ED, F&I GROUND ACONS, UP TO 1)	10,000.00000	60,000.00	14,000.00000	84,000.00	20,000.00000	120,000.00



Page 5 of 42

Florida Department of Transportation



Tabulation of Bids

Letting	: 042	230804 A	ugust 04, 202	23 Ca l	I Order: 002		Contract:	E4W81	
	No / Item ID Description	Alternate	Quantity Units	(1) ARC ELE	ECTRIC INC	(2) AUM CONST	RUCTION INC.		VER ELECTRIC,
() indi	cates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
ENHANC SOLAR F	0700142132 CED HIGHWAY POWERED, F& W/EDS, 12-20 NELS	I GROUND	ŕ	12,000.00000	72,000.00	23,000.00000	138,000.00	25,000.00000	150,000.00
ENHANC SOLAR F	0700142150 CED HIGHWAY POWERED, F& HIGHLIGHTEI	I GROUND	·	9,000.00000	90,000.00	16,000.00000	160,000.00	15,000.00000	150,000.00
ENHANC SOLAR F MOUNT,	0700142172 CED HIGHWAY POWERED, F& W/EDS AND B TIC SIGN PANE	I GROUND BEACON, 12-20		15,000.00000	90,000.00	25,000.00000	150,000.00	27,500.00000	165,000.00
	0705 10 1 MARKER, TYF	PE 1	5.000 EA	100.00000	500.00	500.00000	2,500.00	800.0000	4,000.00
	0705 11 1 ATOR, FLEXIBL	LE TUBULAR	100.000 EA	10.00000	1,000.00	150.00000	15,000.00	225.00000	22,500.00
DELINEA	0705 11 6 ATOR, REPLAC TING BARRIEF		100.000 DR EA	10.00000	1,000.00	175.00000	17,500.00	500.00000	50,000.00
DELINEA	0705 11 11 ATOR POST, F ON EXISTING		100.000 EA	10.00000	1,000.00	100.00000	10,000.00	180.00000	18,000.00
	0706 1 3 PAVEMENT M	ARKER, TYPE	60.000 B EA	5.00000	300.00	10.00000	600.00	6.00000	360.00





Tabulation of Bids

Page 6 of 42

Letting	g : 04	1230804	August 04, 202	23 Ca	II Order: 002		Contract:	E4W81	
	No / Item ID Description	Alternate	Quantity Units	(1) ARC ELE	ECTRIC INC	(2) AUM CONST	RUCTION INC.		VER ELECTRIC, IC.
() ind	dicates item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
	0711 11123 OPLASTIC, ST 12" FOR CROS OABOUT		600.000 HITE, LF	5.00000	3,000.00	8.00000	4,800.00	4.50000	2,700.00
	0711 11125 OPLASTIC, ST 24" FOR STOF WALK		500.000 HITE, LF	7.00000	3,500.00	12,00000	6,000.00	9.00000	4,500.00
2 - 4 DO	0711 11141 OPLASTIC, ST ITED GUIDELI SION, 6"		0.500 HITE, GM	10,000.00000	5,000.00	10,000.00000	5,000.00	10,785.00000	5,392.50
	0711 11160 OPLASTIC, ST GE OR SYMBO		8.000 HITE, EA	200.00000	1,600.00	350.00000	2,800.00	315.00000	2,520.00
0185 THERM ARROW	0711 11170 OPLASTIC, ST /	ΓANDARD, WH	20.000 HITE, EA	175.00000	3,500.00	300.00000	6,000.00	375.00000	7,500.00
	0711 14125 OPLASTIC, PF SOLID, 24" F		150.000 LF ALK	30.00000	4,500.00	50.00000	7,500.00	28.00000	4,200.00
	0711 14160 OPLASTIC, PF MESSAGE	REFORMED,	5.000 EA	400.00000	2,000.00	900.0000	4,500.00	750.00000	3,750.00
	0711 14170 OPLASTIC, PF ARROW	REFORMED,	5.000 EA	250.00000	1,250.00	750.00000	3,750.00	750.00000	3,750.00





Tabulation of Bids

Page 7 of 42

Letting:	04230804	August 04, 202	3 Cal	l Order: 002		Contract:	E4W81	
	o / Item ID Alternatescription	te Quantity Units	(1) ARC ELE	CTRIC INC	(2) AUM CONST	RUCTION INC.		VER ELECTRIC, IC.
() indica	tes item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
8	SECTION: 0001	Signing						
THERMOP	711 15102 LASTIC, STANDARD-OF ASPHALT SURFACES, W		10,000.00000	5,000.00	20,000.00000	10,000.00	18,000.00000	9,000.00
THERMOP GRADED A	711 15131 LASTIC, STANDARD-OF ASPHALT SURFACES, W)-30 SKIP OR 3-9 LANE [/HITE,	10,000.00000	5,000.00	10,000.00000	5,000.00	10,785.00000	5,392.50
THERMOP	711 15201 LASTIC, STANDARD-OF ASPHALT SURFACES, SOLID, 6"	0.500 PEN GM	8,000.00000	4,000.00	15,000.00000	7,500.00	10,785.00000	5,392.50
THERMOP	711 16101 LASTIC, STANDARD-OT S, WHITE, SOLID, 6"	0.500 THER GM	5,000.00000	2,500.00	12,000.00000	6,000.00	10,785.00000	5,392.50
THERMOP	711 16201 LASTIC, STANDARD-OT S, YELLOW, SOLID, 6"	0.500 THER GM	5,000.00000	2,500.00	12,000.00000	6,000.00	10,785.00000	5,392.50
THERMOP THERMOP	711 17 1 LASTIC, REMOVE EXIS' LASTIC PAVEMENT S- SURFACE TO REMAIN		100.00000	50,000.00	25.00000	12,500.00	10.00000	5,000.00
	0001 Signing	Section Totals:		\$824,100.00		\$1,227,700.00		\$1,614,742.50





Tabulation of Bids

Page 8 of 42

Letting	j : 042	230804 🗡	ugust 04, 202	.3 Ca l	l Order: 002		Contract:	E4W81	
	No / Item ID Description	Alternate	Quantity Units	(1) ARC ELE	ECTRIC INC	(2) AUM CONST	RUCTION INC.		VER ELECTRIC, IC.
() indi	icates item is bid a	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: (0002	Lighting						
	0715 1 12 IG CONDUCTO TED, NO.8 - 6	RS, F&I,	500.000 LF	6.00000	3,000.00	5.00000	2,500.00	3.75000	1,875.00
	0715 1 13 IG CONDUCTO TED, NO 4 TO N		250.000 LF	10.00000	2,500.00	10.00000	2,500.00	5.00000	1,250.00
	0715 1 60 IG CONDUCTO E, CONTRACTO	•	500.000 & LF	1.00000	500.00	1.00000	500.00	1.00000	500.00
0250 LOAD CE VOLTAG	0715 7 11 ENTER, F&I, SE SE	ECONDARY	2.000 EA	16,000.00000	32,000.00	30,000.00000	60,000.00	25,000.00000	50,000.00
LUMINAI LUMINAI	0715 11211 IRE, F&I- REPL IRE ON EXISTII 'AY, COBRA HE	NG POLE/AR <mark>I</mark>		1,800.00000	36,000.00	1,750.00000	35,000.00	2,000.00000	40,000.00
STANDA FOUNDA	0715 61421 POLE COMPLET ARD POLE STAI ATION, 45' MOL LENGTH	NDARD	2.000 EA HT,	9,000.00000	18,000.00	13,000.00000	26,000.00	15,000.00000	30,000.00
LIGHT P STANDA FOUNDA	0715 61442 POLE COMPLET ARD POLE STAI ATION, 45' MOU LENGTH	NDARD	2.000 EA HT,	11,000.00000	22,000.00	14,000.00000	28,000.00	16,000.00000	32,000.00
0270 LIGHT P	0715 68000 POLE COMPLET	E, RELOCATI	2.000 E EA	200.00000	400.00	3,500.00000	7,000.00	11,500.00000	23,000.00





VP, DRUM, OR LCD

Tabulation of Bids

Page 9 of 42

Letting	g : 0	4230804	August 04, 202	3 Cal	l Order: 002		Contract:	E4W81	
	No / Item ID	Alterna	te Quantity Units	(1) ARC ELE	ECTRIC INC	(2) AUM CONST	RUCTION INC.		VER ELECTRIC,
() inc	dicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0002	Lighting						
	0715 69000 POLE COMPL AND FOUNDA	ETE, REMOVI TION	2.000 E EA	200.00000	400.00	2,000.00000	4,000.00	1,500.00000	3,000.00
	0715 69001 POLE COMPL FOUNDATION	ETE, REMOVI I REMAINS	2.000 E EA	500.00000	1,000.00	1,500.00000	3,000.00	1,000.00000	2,000.00
FURNIS	0715500 1 CABLE DISTRI SH AND INSTA ENTIONAL	IBUTION SYST	1.000 ΓΕΜ, ΕΑ	2,000.00000	2,000.00	1,500.00000	1,500.00	2,000.00000	2,000.00
DESIGN		ETE- SPECIAI .E ARM SHOU		10,000.00000	20,000.00	15,000.00000	30,000.00	22,000.00000	44,000.00
			Section Totals:		\$137,800.00		\$200,000.00		\$229,625.00
	SECTION:	0003	Signalization						
0295 TRAFFI	0102 14 IC CONTROL	OFFICER	64.000 HR	80.00000	5,120.00	100.00000	6,400.00	75.00000	4,800.00
0300 WORK :	0102 60 ZONE SIGN		3,000.000 ED	1.00000	3,000.00	1.00000	3,000.00	1.00000	3,000.00
	0102 74 1	'ICE- TYPES I,	4,000.000 II, DI, ED	0.50000	2,000.00	0.75000	3,000.00	1.00000	4,000.00





Tabulation of Bids

Page 10 of 42

Letting	g: 04	4230804	August 04, 202	.3 Ca l	l Order: 002		Contract:	E4W81	
	No / Item ID Description	Alterna	te Quantity Units	(1) ARC ELE	ECTRIC INC	(2) AUM CONST	RUCTION INC.		VER ELECTRIC,
() inc	dicates item is bi	id as Lump Sum	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0003	Signalization						
	0102 74 8 ELIZING DEVI DNGITUDINAL			8.00000	2,400.00	0.75000	225.00	1.00000	300.00
	0102 76 V BOARD / AD V PANEL	VANCE WAR	500.000 NING ED	8.00000	4,000.00	10.00000	5,000.00	15.00000	7,500.00
	0102 99 BLE CHANGE EMPORARY	ABLE MESSA	400.000 AGE ED	100.00000	40,000.00	20.00000	8,000.00	50.00000	20,000.00
0325 TYPE III	0102115 I BARRICADE		350.000 ED	1.00000	350.00	1.00000	350.00	2.00000	700.00
0330 PORTA	0102150 1 BLE REGULA	TORY, SIGN	200.000 ED	10.00000	2,000.00	15.00000	3,000.00	10.00000	2,000.00
0335 RADAR	0102150 2 SPEED DISP	LAY UNIT	200.000 ED	10.00000	2,000.00	15.00000	3,000.00	10.00000	2,000.00
0340 SEDIME	0104 10 3 ENT BARRIER		200.000 LF	2.50000	500.00	5.00000	1,000.00	1.00000	200.00
0345 INLET F	0104 18 PROTECTION	SYSTEM	20.000 EA	150.00000	3,000.00	350.00000	7,000.00	125.00000	2,500.00





Tabulation of Bids

Page 11 of 42

Letting:	04230804	August 04, 202	23 Ca	II Order: 002		Contract:	E4W81	
Line No / It		rnate Quantity Units	(1) ARC ELE	ECTRIC INC	(2) AUM CONST	TRUCTION INC.		VER ELECTRIC,
() indicates i	item is bid as Lump	Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0003	Signalization						
0350 0110 CLEARING & 0 BUTTON CON	GRUBBING (PUS	0.500 H AC	5,000.00000	2,500.00	20,000.00000	10,000.00	50,000.00000	25,000.00
0355 0110 REMOVAL OF	4 10 EXISTING CONG	200.000 CRETE SY	40.00000	8,000.00	50.00000	10,000.00	40.00000	8,000.00
0360 0515 PIPE HANDRA ALUMINUM	1 2 AIL - GUIDERAIL,	10.000 LF	50.00000	500.00	200.00000	2,000.00	210.00000	2,100.00
0365 0520 CONCRETE C	1 10 CURB & GUTTER,	200.000 TYPE F LF	65.00000	13,000.00	50.00000	10,000.00	70.00000	14,000.00
0370 0522 CONCRETE S DRIVEWAYS,	IDEWALK AND	200.000 SY	85.00000	17,000.00	90.00000	18,000.00	100.00000	20,000.00
0375 0522 CONCRETE S DRIVEWAYS,	IDEWALK AND	50.000 SY	100.00000	5,000.00	120.00000	6,000.00	150.00000	7,500.00
0380 0526 PAVERS, ARC	1 2 CHITECTURAL, SI	50.000 IDEWALK SY	100.00000	5,000.00	180.00000	9,000.00	200.00000	10,000.00
0385 0527 DETECTABLE		200.000 SF	40.00000	8,000.00	50.00000	10,000.00	45.00000	9,000.00
0390 0570 PERFORMAN		1.000 SY	500.00000	500.00	500.00000	500.00	15.00000	15.00





Tabulation of Bids

Page 12 of 42

Letting: 04	230804 Au	gust 04, 2023	Cal	l Order: 002		Contract:	E4W81	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) ARC ELE	CTRIC INC	(2) AUM CONST	RUCTION INC.		VER ELECTRIC,
() indicates item is bio	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0003 Si	gnalization						
0395 0570 1 2 PERFORMANCE TURI	F, SOD	100.000 SY	300.00000	30,000.00	75.00000	7,500.00	15.00000	1,500.00
0400 0630 2 11 CONDUIT, FURNISH 8 TRENCH	k INSTALL, OPEN	2,000.000 N LF	15.00000	30,000.00	25.00000	50,000.00	50.00000	100,000.00
0405 0630 2 12 CONDUIT, FURNISH 8 DIRECTIONAL BORE	k INSTALL,	500.000 LF	100.00000	50,000.00	45.00000	22,500.00	50.00000	25,000.00
0410 0632 7 1 SIGNAL CABLE- NEW RECONSTRUCTED IN FURNISH & INSTALL		4.000 PI	12,000.00000	48,000.00	10,000.00000	40,000.00	25,000.00000	100,000.00
0415 0632 7 2 SIGNAL CABLE- REPAIR/REPLACE/OT INSTALL	HER, FURNISH 8	1,000.000 LF &	15.00000	15,000.00	15.00000	15,000.00	50.00000	50,000.00
0420 0632 7 6 SIGNAL CABLE, REMOINTERSECTION	OVE-	2.000 PI	100.00000	200.00	500.00000	1,000.00	1,500.00000	3,000.00
0425 0633 1121 FIBER OPTIC CABLE, UNDERGROUND,2-12		600.000 LF	5.00000	3,000.00	10.00000	6,000.00	12.00000	7,200.00
0430 0633 2 31 FIBER OPTIC CONNE SPLICE	CTION, INSTALL	30.000 , EA	60.00000	1,800.00	100.00000	3,000.00	100.00000	3,000.00





Tabulation of Bids

Page 13 of 42

Letting	ງ : 04	230804	August 04, 202	23 Ca l	I Order: 002		Contract:	E4W81	
	No / Item ID Description	Alterna	te Quantity Units	(1) ARC ELE	ECTRIC INC	(2) AUM CONST	TRUCTION INC.		VER ELECTRIC,
() ind	licates item is bio	d as Lump Sum	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0003	Signalization	_					
0435 FIBER C TERMIN	0633 2 32 OPTIC CONNE IATION	CTION, INST	5.000 FALL, EA	100.00000	500.00	150.00000	750.00	90.00000	450.00
	0633 3 11 DPTIC CONNE ARE, F&I, SPL		5.000 EA SURE	1,000.00000	5,000.00	1,500.00000	7,500.00	1,500.00000	7,500.00
	0633 3 12 OPTIC CONNE 'ARE, F&I, SPL		5.000 EA	75.00000	375.00	100.00000	500.00	200.00000	1,000.00
	0633 3 15 DPTIC CONNE 'ARE, F&I, PRE PANEL		5.000 EA ED	2,000.00000	10,000.00	3,000.00000	15,000.00	2,000.00000	10,000.00
	0634 4151 /IRE ASSEMBI PERPENDICU		4.000 PI	1,000.00000	4,000.00	5,000.00000	20,000.00	7,500.00000	30,000.00
0460 SPAN W POLES I	0634 4600 /IRE ASSEMBI REMAIN	LY, REMOVE	4.000 E- PI	250.00000	1,000.00	1,000.00000	4,000.00	1,200.00000	4,800.00
0465 FIBERG INSTALL	0634 5 1 LASS INSULA -	TOR, FURNI	20.000 SH & LF	10.00000	200.00	400.00000	8,000.00	200.00000	4,000.00
0470 PULL & COVER	0635 2 11 SPLICE BOX, SIZE	F&I, 13" x 24	19.000 " EA	4,000.00000	76,000.00	2,000.00000	38,000.00	2,000.00000	38,000.00





Tabulation of Bids

Page 14 of 42

Letting	y: 04:	230804	August 04, 202	3 Cal	I Order: 002		Contract:	E4W81	
	No / Item ID Description	Alternat	e Quantity Units	(1) ARC ELE	ECTRIC INC	(2) AUM CONST	TRUCTION INC.		VER ELECTRIC, IC.
() ind	licates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0003	Signalization						
0475 PULL & COVER	0635 2 12 SPLICE BOX, I SIZE	F&I, 24" X 36'	20.000 ' EA	4,000.00000	80,000.00	2,500.00000	50,000.00	3,500.00000	70,000.00
	0635 2 13 SPLICE BOX, I NGULAR OR 3			2,000.00000	20,000.00	3,500.00000	35,000.00	5,000.00000	50,000.00
0485 JUNCTI MOUNT	0635 3 12 ON BOX, FURN ED	NISH & INST <i>A</i>	6.000 ALL, EA	500.00000	3,000.00	1,000.00000	6,000.00	1,000.00000	6,000.00
UNDER	0639 1122 RICAL POWER GROUND, MET ITRACTOR		,	8,000.00000	48,000.00	6,000.00000	36,000.00	10,000.00000	60,000.00
	0639 1123 RICAL POWER GROUND, MET RED		6.000 &I, AS	1,700.00000	10,200.00	3,000.00000	18,000.00	9,000.00000	54,000.00
	0639 1610 RICAL POWER E OVERHEAD	SERVICE,	2.000 AS	2,000.00000	4,000.00	750.00000	1,500.00	800.0000	1,600.00
0505 ELECTR & INSTA	0639 2 1 Rical Service All	E WIRE, FUR	2,000.000 NISH LF	5.00000	10,000.00	7.50000	15,000.00	15.00000	30,000.00
	0639 3 11 RICAL SERVICE LE MOUNT	E DISCONNE	4.000 CT, EA	2,000.00000	8,000.00	2,000.00000	8,000.00	4,000.00000	16,000.00





Tabulation of Bids

Page 15 of 42

Letting:	04230804	Augu	st 04, 202	3 Cal	Order: 002		Contract:	E4W81	
	o / Item ID Alte escription	rnate (Quantity Units	(1) ARC ELE	CTRIC INC	(2) AUM CONST	RUCTION INC.		/ER ELECTRIC, C.
() indica	tes item is bid as Lump s	Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
8	SECTION: 0003	Sign	alization						
PRESTRES	641 212 SSED CONCRETE PO SERVICE POLE	OLE, F&I,	5.000 EA	6,000.00000	30,000.00	3,000.00000	15,000.00	2,500.00000	12,500.00
	641 214 SSED CONCRETE PO	OLE, F&I,	5.000 EA	2,000.00000	10,000.00	10,000.00000	50,000.00	14,000.00000	70,000.00
	641 216 SSED CONCRETE PO	OLE, F&I,	2.000 EA	5,900.00000	11,800.00	12,000.00000	24,000.00	14,500.00000	29,000.00
	641 2 17 SSED CONCRETE PO I	OLE, F&I,	5.000 EA	6,000.00000	30,000.00	15,000.00000	75,000.00	15,000.00000	75,000.00
PRESTRES	641 270 SSED CONCRETE PO POLE REMOVAL-PO ATER		1.000 EA	1,500.00000	1,500.00	2,000.00000	2,000.00	2,500.00000	2,500.00
	646 111 M SIGNALS POLE, PE	EDESTAL	8.000 EA	1,500.00000	12,000.00	2,500.00000	20,000.00	4,500.00000	36,000.00
ALUMINUM	646 112 M SIGNALS POLE, FL PEDESTRIAN DETEC		16.000 EA	1,000.00000	16,000.00	2,000.00000	32,000.00	2,500.00000	40,000.00
	646 160 // SIGNALS POLE, RE	EMOVE	4.000 EA	200.00000	800.00	500.00000	2,000.00	300.00000	1,200.00





Tabulation of Bids

Page 16 of 42

Letting	: 04230804	August 04, 202	3 Cal	l Order: 002		Contract:	E4W81	
	No / Item ID Alternate Description	Quantity Units	(1) ARC ELE	ECTRIC INC	(2) AUM CONST	RUCTION INC.		VER ELECTRIC,
() indi	icates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0003	Signalization						
STEEL M	0649 21 3 MAST ARM ASSEMBLY, FUI STALL, SINGLE ARM 40'	1.000 RNISH EA	55,000.00000	55,000.00	75,000.00000	75,000.00	70,000.00000	70,000.00
STEEL M	0649 21 6 MAST ARM ASSEMBLY, FUI STALL, SINGLE ARM 50'	1.000 RNISH EA	58,000.00000	58,000.00	80,000.00000	80,000.00	72,710.00000	72,710.00
STEEL M	0649 21 8 MAST ARM ASSEMBLY, FUI TALL, DOUBLE ARM 50'-40		65,000.00000	130,000.00	130,000.00000	260,000.00	105,000.00000	210,000.00
STEEL M	0649 21 10 MAST ARM ASSEMBLY, FUI TALL, SINGLE ARM 60'	1.000 RNISH EA	57,000.00000	57,000.00	85,000.00000	85,000.00	77,300.00000	77,300.00
STEEL M	0649 21 13 MAST ARM ASSEMBLY, FUI STALL, DOUBLE ARM 60'-50		75,000.00000	150,000.00	145,000.00000	290,000.00	108,000.00000	216,000.00
STEEL M	0649 21 15 MAST ARM ASSEMBLY, FUI STALL, SINGLE ARM 70'	2.000 RNISH EA	85,000.00000	170,000.00	95,000.00000	190,000.00	94,000.00000	188,000.00
STEEL M	0649 21 18 MAST ARM ASSEMBLY, FUI STALL, DOUBLE ARM 70'-50		100,000.00000	200,000.00	150,000.00000	300,000.00	110,000.00000	220,000.00
STEEL M	0649 21 21 MAST ARM ASSEMBLY, FUI TALL, SINGLE ARM 78'	2.000 RNISH EA	140,000.00000	280,000.00	110,000.00000	220,000.00	97,500.00000	195,000.00





Tabulation of Bids

Page 17 of 42

Letting:	: 04	1230804	August 04, 2023	3 Cal	II Order: 002		Contract:	E4W81	
	No / Item ID Description	Alternat	e Quantity Units	(1) ARC ELE	ECTRIC INC	(2) AUM CONST	RUCTION INC.		VER ELECTRIC,
() indica	cates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0003	Signalization						
STEEL MA	0649 23 2 AST ARM AS RELOCATE NTRACTOR TION	TO	2.000 EA	40,000.00000	80,000.00	30,000.00000	60,000.00	45,000.00000	90,000.00
STEEL MAREMOVE,	0649 26 3 AST ARM AS , SHALLOW I ATTACHME	FOUNDATION	2.000 EA N-	1,000.00000	2,000.00	3,500.00000	7,000.00	5,600.00000	11,200.00
VEHICULA		SIGNAL, ALUMINUM,	40.000 AS	2,000.00000	80,000.00	2,000.00000	80,000.00	3,000.00000	120,000.00
VEHICULA		SIGNAL, ALUMINUM,	10.000 AS	1,250.00000	12,500.00	2,400.00000	24,000.00	3,500.00000	35,000.00
VEHICUL/ FURNISH	0650 118 .AR TRAFFIC I & INSTALL I STRAIGHT,	ALUMINÚM,	5.000 AS	1,600.00000	8,000.00	2,500.00000	12,500.00	4,000.00000	20,000.00
VEHICUL/ FURNISH	0650 1 19 .AR TRAFFIC I & INSTALL I CLUSTER,	ALUMINUM,	8.000 AS	1,700.00000	13,600.00	3,000.00000	24,000.00	4,000.00000	32,000.00
VEHICUL/ FURNISH		C SIGNAL, POLYCARBO TION, 1 WAY	5.000 AS NATE	800.0000	4,000.00	2,000.00000	10,000.00	2,800.00000	14,000.00





Tabulation of Bids

Page 18 of 42

Letting	j: 04	1230804	August 04, 202	3 Ca l	II Order: 002		Contract:	E4W81	
	No / Item ID Description	Alternat	e Quantity Units	(1) ARC ELE	ECTRIC INC	(2) AUM CONST	RUCTION INC.		VER ELECTRIC, IC.
() indi	icates item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0003	Signalization						
VEHICUL	0650 160 LAR TRAFFIC E- POLES TO		10.000 AS	50.00000	500.00	500.00000	5,000.00	500.00000	5,000.00
VEHICUL RELOCA	0650 170 LAR TRAFFIC ATE- INCLUDE ALLATION	C SIGNAL, ES REMOVAL	5.000 AS AND	500.00000	2,500.00	1,000.00000	5,000.00	2,000.00000	10,000.00
VEHICUL REPAIR/	/REPLACE/RE .LL, BACKPLA	AUXILIARIES, ETROFIT- FUF ATE- FLEXIBLI	RNISH	500.00000	25,000.00	500.00000	25,000.00	1,500.00000	75,000.00
PEDEST		L, FURNISH & DOWN, 1 W <i>F</i>		2,000.00000	20,000.00	2,000.00000	20,000.00	1,200.00000	12,000.00
PEDEST		L, FURNISH & DOWN, 2 WA		2,300.00000	13,800.00	2,500.00000	15,000.00	2,100.00000	12,600.00
	0653 140 RIAN SIGNAL	L, RELOCATE	5.000 AS	200.00000	1,000.00	500.00000	2,500.00	500.00000	2,500.00
PEDEST		L, REMOVE P STAL TO REM		100.00000	800.00	350.00000	2,800.00	250.00000	2,000.00





Tabulation of Bids

Page 19 of 42

Letting:	: 04	230804	August 04, 202	3 Cal	I Order: 002		Contract:	E4W81	
	No / Item ID Description	Alternat	e Quantity Units	(1) ARC ELE	ECTRIC INC	(2) AUM CONST	RUCTION INC.		VER ELECTRIC,
() indic	cates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0003	Signalization						
MIDBLOC RECTANO BEACON	0654 221 CK CROSSWA GULAR RAPII I, FURNISH & ITE SIGN ASS ON	D FLASHING INSTALL- SC	4.000 AS DLAR,	8,500.00000	34,000.00	15,000.00000	60,000.00	180,000.00000	720,000.00
MIDBLOC RECTANO BEACON	0654 222 CK CROSSWA GULAR RAPII I, FURNISH & TE SIGN ASS	D FLASHING INSTALL- SC		8,000.00000	16,000.00	17,000.00000	34,000.00	20,000.00000	40,000.00
MIDBLOC RECTANO	0654 260 CK CROSSWA GULAR RAPII I, REMOVE CO LY	D FLASHING		500.00000	2,500.00	750.00000	3,750.00	2,000.00000	10,000.00
VEHICLE MICROW	0660 3 11 DETECTION AVE, FURNIS EQUIPMENT	SH & INSTALI	2.000 EA	2,600.00000	5,200.00	13,000.00000	26,000.00	12,000.00000	24,000.00
VEHICLE MICROW	0660 3 12 EDETECTION /AVE, FURNIS GROUND EQU	SH & INSTALI	2.000 EA	1,500.00000	3,000.00	16,000.00000	32,000.00	15,000.00000	30,000.00
VEHICLE	0660 4 11 EDETECTION H & INSTALL C ENT		2.000 DEO, EA	11,000.00000	22,000.00	12,000.00000	24,000.00	25,000.00000	50,000.00





Tabulation of Bids

Page 20 of 42

Letting:	: 04	230804	August 04, 202	3 Cal	II Order: 002		Contract:	E4W81	
	No / Item ID Description	Alternate	e Quantity Units	(1) ARC ELE	ECTRIC INC	(2) AUM CONST	RUCTION INC.		VER ELECTRIC,
() indic	cates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0003	Signalization						
VEHICLE	1 & INSTALL	I SYSTEM- VII ABOVE GROU		2,600.00000	20,800.00	15,000.00000	120,000.00	10,000.00000	80,000.00
VEHICLE		I SYSTEM- VI EQUIPMENT	2.000 DEO, EA	2,500.00000	5,000.00	500.00000	1,000.00	1,000.00000	2,000.00
VEHICLE	TE ABOVE G	I SYSTEM- VI ROUND	8.000 DEO, EA	600.00000	4,800.00	2,000.00000	16,000.00	3,500.00000	28,000.00
		I SYSTEM- VI	4.000 DEO, EA	100.00000	400.00	550.00000	2,200.00	5,000.00000	20,000.00
SIGNAL F	0663 1400 PRIORITY & F , RELOCATE	PREEMPTION	4.000 EA	1,500.00000	6,000.00	2,500.00000	10,000.00	2,500.00000	10,000.00
PEDESTF	0665 111 RIAN DETEC , STANDARD	TOR, FURNIS	32.000 H & EA	600.00000	19,200.00	500.00000	16,000.00	500.00000	16,000.00
PEDESTF	0665 112 RIAN DETEC , ACCESSIBL	TOR, FURNIS E	8.000 H & EA	2,800.00000	22,400.00	4,500.00000	36,000.00	2,500.00000	20,000.00
	0665 140 RIAN DETEC	TOR, RELOCA	4.000 ATE EA	25.00000	100.00	250.00000	1,000.00	500.00000	2,000.00





Tabulation of Bids

Page 21 of 42

Letting	j: 04	1230804	August 04, 202	.3 Ca	II Order: 002		Contract:	E4W81	
	No / Item ID Description	Alterna	te Quantity Units	(1) ARC ELE	ECTRIC INC	(2) AUM CONST	RUCTION INC.		VER ELECTRIC, IC.
() indic	icates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0003	Signalization						
PEDESTI	0665 160 RIAN DETEC EDESTAL TO		4.000 /E- EA	500.00000	2,000.00	100.00000	400.00	200.00000	800.00
	0670 5110 CONTROLLI MA	ER ASSEMBL	2.000 LY, AS	35,000.00000	70,000.00	45,000.00000	90,000.00	39,000.00000	78,000.00
TRAFFIC	0670 5111 CCONTROLLI MA, 1 PREEMI		1.000 LY, AS	37,000.00000	37,000.00	50,000.00000	50,000.00	40,000.00000	40,000.00
TRAFFIC	0670 5140 CONTROLLI H & INSTALL			45,000.00000	45,000.00	45,000.00000	45,000.00	40,000.00000	40,000.00
TRAFFIC	0670 5600 CONTROLLI ECONTROLL			1,091.36000	1,091.36	1,982.00000	1,982.00	1,000.00000	1,000.00
MANAGE	0684 1 1 ED FIELD ETH H & INSTALL	HERNET SWI	4.000 TCH, EA	3,200.00000	12,800.00	6,000.00000	24,000.00	7,500.00000	30,000.00
	0003 Si	gnalization	Section Totals:		\$2,387,236.36		\$3,129,857.00		\$4,013,975.00
		Contract G	Grand Totals:		\$3,349,136.36		\$4,557,557.00		5,858,342.50





Tabulation of Bids

Page 22 of 42

Letting:	04230804	August 04, 202	23 Ca l	II Order: 002		Contract:	E4W81	
Line No / I		rnate Quantity Units	(4) SIGNAL TE AND INSTALL					
() indicates	item is bid as Lump		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	Signing						
) 1 11 T SIGN, F&I GROU TO 12 SF	30.000 JND AS	646.58000	19,397.40				
) 1 12 T SIGN, F&I GROU 0 SF	15.000 JND AS	2,191.28000	32,869.20				
) 150 TSIGN, RELOCAT	10.000 E AS	403.11000	4,031.10				
	1 60 T SIGN, REMOVE	10.000 AS	48.38000	483.80				
) 2 15 SIGN, F&I GROU 100 SF	10.000 ND AS	12,093.12000	120,931.20				
	2 50 SIGN, GROUND	10.000 MOUNT, AS	7,578.36000	75,783.60				
SIGN PANEL,) 3101 FURNISH & INST JUNT, UP TO 12 S		364.33000	5,464.95				
SIGN PANEL,	3102 FURNISH & INST JUNT, 12-20 SF	15.000 ALL EA	711.98000	10,679.70				
SIGN PANEL,	3103 FURNISH & INST UNT, 21-30 SF	10.000 ALL EA	1,531.91000	15,319.10				





Tabulation of Bids

Page 23 of 42

Letting:	04230804	August 04, 2023	3 Cal	l Order: 002		Contract:	E4W81	
Line No / Ite Item Descrip		te Quantity Units	(4) SIGNAL TE AND INSTALLA					
() indicates ite	m is bid as Lump Sun	7	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0001	Signing						
	3201 URNISH & INSTAL DUNT, UP TO 12 SF		1,056.83000	15,852.45				
0055 0700 3 SIGN PANEL, F OVERHEAD MO	URNISH & INSTAL	10.000 L EA	1,787.80000	17,878.00				
0060 0700 3 SIGN PANEL, F OVERHEAD MO	URNISH & INSTAL	10.000 L EA	3,270.04000	32,700.40				
•	3205 URNISH & INSTAL DUNT, 51-100 SF	10.000 L EA	5,570.20000	55,702.00				
0070 0700 3 SIGN PANEL, R	8501 ELOCATE, UP TO	10.000 12 SF EA	177.79000	1,777.90				
0075 0700 3 SIGN PANEL, R	8601 EMOVE, UP TO 12	10.000 SF EA	83.53000	835.30				
0080 0700 3 SIGN PANEL, R	8602 EMOVE, 12-20 SF	10.000 EA	186.71000	1,867.10				
	LUMINATED SIGN TALL OVERHEAD	10.000 , EA	6,656.46000	66,564.60				





Tabulation of Bids

Page 24 of 42

Letting:	0423080	04 Aug	just 04, 202	3 Cal	l Order: 002		Contract:	E4W81	
Line No /		Alternate	Quantity Units	(4) SIGNAL TE AND INSTALLA					
() indicates	s item is bid as Lui	mp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	Sig	ıning						
INTERNALLY	0 522 / ILLUMINATED INSTALL, OVEF 18 SF		10.000 EA	8,201.96000	82,019.60				
	0 5 50 / ILLUMINATED	SIGN,	10.000 EA	4,557,89000	45,578.90				
	0 560 / ILLUMINATED	SIGN,	10.000 EA	974.71000	9,747.10				
ENHANCED AC POWERE	0141111 HIGHWAY SIGN ED, F&I GROUN UP TO 12 SF O S	D MOUNT,	6.000 Y, EA	11,307.78000	67,846.68				
ENHANCED AC POWERE	0141360 HIGHWAY SIGN ED, F&I OVERHI SIGN <12 SF			16,243.83000	97,462.98				
ENHANCED SOLAR POW	0142111 HIGHWAY SIGN /ERED, F&I GRO BEACON, UP TO N PANELS	DUND	6.000 Y, EA	15,595.12000	93,570.72				
ENHANCED SOLAR POW MOUNT, W/2	0142121 HIGHWAY SIGN /ERED, F&I GRO BEACONS, UP BIGN PANELS	DUND	6.000 Y, EA	16,759.69000	100,558.14				





Tabulation of Bids

Page 25 of 42

Letting:	04230804	August 04, 202	3 Cal	l Order: 002		Contract:	E4W81	
Line No /		ate Quantity Units	(4) SIGNAL TE AND INSTALL					
() indicates	s item is bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	Signing						
ENHANCED I	0142132 HIGHWAY SIGN ASS ÆRED, F&I GROUND EDS, 12-20 SF OF STA S	,	20,952.13000	125,712.78				
ENHANCED I	0142150 HIGHWAY SIGN ASS ÆRED, F&I GROUND HLIGHTED SIGN 12-:	·	15,253.51000	152,535.10				
ENHANCED SOLAR POW MOUNT, W/E	0142172 HIGHWAY SIGN ASS ÆRED, F&I GROUND EDS AND BEACON, 12 BIGN PANELS	·	24,100.77000	144,604.62				
	5 10 1 RKER, TYPE 1	5.000 EA	388.73000	1,943.65				
	5 11 1 R, FLEXIBLE TUBULA	100.000 AR EA	931.98000	93,198.00				
	5 11 6 R, REPLACE DELINE G BARRIER	100.000 ATOR EA	852.57000	85,257.00				
DELINEATOR	5 11 11 R POST, FURNISH & EXISTING BASE	100.000 EA	883,61000	88,361.00				
	6 1 3 EMENT MARKER, TY	60.000 'PE B EA	6.45000	387.00				





Tabulation of Bids

Page 26 of 42

Letting:	04230804	Augı	ust 04, 2023	3 Cal	l Order: 002		Contract:	E4W81	
Line No / Ite Item Descrip		rnate	Quantity Units	(4) SIGNAL TE AND INSTALLA					
() indicates ite	m is bid as Lump S	Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ON: 0001	Sigr	ning						
0165 0711 1 THERMOPLAST SOLID, 12" FOR ROUNDABOUT	IC, STANDARD		600.000 LF	4.84000	2,904.00				
0170 0711 1 THERMOPLAST SOLID, 24" FOR CROSSWALK	IC, STANDARD		500.000 LF	9.68000	4,840.00				
0175 0711 1 THERMOPLAST 2-4 DOTTED GU EXTENSION, 6	IC, STANDARD		0.500 GM	11,593.30000	5,796.65				
0180 0711 1 THERMOPLAST MESSAGE OR S	IC, STANDARD	, WHITE,	8.000 EA	322.49000	2,579.92				
0185 0711 1 THERMOPLAST ARROW		, WHITE,	20.000 EA	403.11000	8,062.20				
0190 0711 1 THERMOPLAST WHITE, SOLID,	IC, PREFORME		150.000 LF	29.83000	4,474.50				
0195 0711 1 THERMOPLAST WHITE, MESSA	IC, PREFORME	ED,	5.000 EA	806.21000	4,031.05				
0200 0711 1 THERMOPLAST WHITE, ARROV	IC, PREFORME	ED,	5.000 EA	806.21000	4,031.05				





Tabulation of Bids

Page 27 of 42

Letting:	04230804	August 04, 202	3 Cal	l Order: 002		Contract:	E4W81	
	/ Item ID Alteri	nate Quantity Units	(4) SIGNAL TE AND INSTALL					
() indicat	es item is bid as Lump So	um	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	ECTION: 0001	Signing						
THERMOP	11 15102 _ASTIC, STANDARD- SPHALT SURFACES,	ı	19,316.76000	9,658.38				
THERMOPI GRADED A	11 15131 _ASTIC, STANDARD- SPHALT SURFACES, -30 SKIP OR 3-9 LANI	WHITE,	11,593,30000	5,796.65				
THERMOPI	11 15201 _ASTIC, STANDARD- SPHALT SURFACES, SOLID, 6"		11,593.30000	5,796.65				
THERMOPI	11 16101 _ASTIC, STANDARD- S, WHITE, SOLID, 6"	0.500 OTHER GM	11,593.30000	5,796.65				
THERMOP	11 16201 _ASTIC, STANDARD- 5, YELLOW, SOLID, 6'		11,593.30000	5,796.65				
THERMOPI THERMOPI	11 17 1 _ASTIC, REMOVE EX _ASTIC PAVEMENT SURFACE TO REMA		162.46000	81,230.00				
	0001 Signing	Section Totale:		¢1 217 715 19				

0001 Signing Section Totals:

\$1,817,715.42





Tabulation of Bids

Page 28 of 42

Letting:	04230804	August 04, 202	.3 Cal	l Order: 002		Contract:	E4W81	
Line No /		ate Quantity Units	(4) SIGNAL TE AND INSTALL					
() indicates	s item is bid as Lump Sui	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0002	Lighting						
	5 1 12 ONDUCTORS, F&I, NO.8 - 6	500.000 LF	5.03000	2,515.00				
LIGHTING CO	5 1 13 ONDUCTORS, F&I, NO 4 TO NO 2	250.000 LF	11.83000	2,957.50				
LIGHTING C	5 160 ONDUCTORS, REMC ONTRACTOR OWNS		2.44000	1,220.00				
	5 7 11 ER, F&I, SECONDAR	2.000 Y EA	28,924.98000	57,849.96				
LUMINAIRE, LUMINAIRE	5 11211 F&I- REPLACE EXIS ON EXISTING POLE/ COBRA HEAD		2,208.29000	44,165.80				
LIGHT POLE STANDARD	5 61421 COMPLETE, F&I, POLE STANDARD N, 45' MOUNTING HE IGTH	2.000 EA EIGHT,	16,582.57000	33,165.14				
LIGHT POLE STANDARD	5 61442 COMPLETE, F&I, POLE STANDARD N, 45' MOUNTING HE IGTH	2.000 EA EIGHT,	16,630.87000	33,261.74				
	5 68000 COMPLETE, RELOC	2.000 CATE EA	12,727.21000	25,454.42				





Tabulation of Bids

Page 29 of 42

Letting:	04230804	August 04, 2023	B Cal	l Order: 002		Contract:	E4W81	
Line No / Ite Item Descrip		Quantity Units	(4) SIGNAL TE AND INSTALL					
() indicates ite	m is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0002	Lighting						
0275 0715 6 LIGHT POLE CO POLE AND FOU	MPLETE, REMOVE	2.000 EA	2,436.77000	4,873.54				
	9001 DMPLETE, REMOVE TION REMAINS	2.000 EA	1,949.42000	3,898.84				
0285 071550 POLE CABLE D FURNISH AND CONVENTIONA	ISTRIBUTION SYST NSTALL,	1.000 EM, EA	1,109.93000	1,109.93				
	MPLETE- SPECIAL INGLE ARM SHOUL		16,080.51000	32,161.02				
	0002 Lighting S	ection Totals:		\$242,632.89		•		

	SECTION:	0003	Signalization		
0295 TRAFF	0102 14 IC CONTROL	OFFICER	64.000 HR	243.08000	15,557.12
0300 WORK	0102 60 ZONE SIGN		3,000.000 ED	0.73000	2,190.00
	0102 74 1 NELIZING DEV RUM, OR LCD	ICE- TYPES I, I	4,000.000 II, DI, ED	0.41000	1,640.00





Tabulation of Bids

Page 30 of 42

Letting	g: 04	4230804	August 04, 202	3 Cal	Order: 002		Contract:	E4W81	
	No / Item ID Description	Alternat	e Quantity Units	(4) SIGNAL TE AND INSTALLA					
	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0003	Signalization				_		
	0102 74 8 ELIZING DEV DNGITUDINAL E)			0.33000	99.00				
	0102 76 / BOARD / AD / PANEL	VANCE WARI	500.000 NING ED	12.90000	6,450.00				
	0102 99 BLE CHANGE EMPORARY	ABLE MESSA	400.000 GE ED	24.19000	9,676.00				
0325 TYPE III	0102115 I BARRICADE		350.000 ED	1.21000	423.50				
0330 PORTA	0102150 1 BLE REGULA	TORY, SIGN	200.000 ED	12.90000	2,580.00				
0335 RADAR	0102150 2 SPEED DISP	LAY UN I T	200.000 ED	12,90000	2,580.00				
0340 SEDIME	0104 10 3 ENT BARRIER		200.000 LF	334.98000	66,996.00				
0345 INLET F	0104 18 PROTECTION	SYSTEM	20.000 EA	421.25000	8,425.00				





Tabulation of Bids

Page 31 of 42

Letting: 04	4230804 <i>p</i>	August 04, 2023	3 Cal	Order: 002		Contract:	E4W81	
Line No / Item ID Item Description	Alternate	Quantity Units	(4) SIGNAL TE AND INSTALLA	CHNOLOGY ATION CORP.				
() indicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0003	Signalization						
0350 0110 2 1 CLEARING & GRUBB BUTTON CONTRACT		0.500 AC	8,122.56000	4,061.28				
0355 0110 4 10 REMOVAL OF EXISTI	NG CONCRETE	200.000 E SY	162.46000	32,492.00				
0360 0515 1 2 PIPE HANDRAIL - GU ALUMINUM	IDERAIL,	10.000 LF	2,487.16000	24,871.60				
0365 0520 1 10 CONCRETE CURB &	GUTTER, TYPE	200.000 EF LF	530.49000	106,098.00				
0370 0522 1 CONCRETE SIDEWA DRIVEWAYS, 4" THIC		200.000 SY	573.62000	114,724.00				
0375 0522 2 CONCRETE SIDEWA DRIVEWAYS, 6" THIC		50.000 SY	421.25000	21,062.50				
0380 0526 1 2 PAVERS, ARCHITEC	TURAL, SIDEW	50.000 ALK SY	832.41000	41,620.50				
0385 0527 2 DETECTABLE WARN	INGS	200.000 SF	333.53000	66,706.00				
0390 0570 1 1 PERFORMANCE TUR	RF	1.000 SY	454.31000	454.31				





Tabulation of Bids

Page 32 of 42

Letting:	04230804	August 04, 2023	3 Cal	l Order: 002		Contract:	E4W81	
Line No / Ite		te Quantity Units	(4) SIGNAL TE AND INSTALL					
() indicates ite	m is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0003	Signalization						
0395 0570 PERFORMANC		100.000 SY	162.46000	16,246.00				
0400 0630 : CONDUIT, FUR TRENCH	2 11 NISH & INSTALL, C	2,000.000 PPEN LF	37.31000	74,620.00				
0405 0630 : CONDUIT, FUR DIRECTIONAL	NISH & INSTALL,	500.000 LF	90.18000	45,090.00				
0410 0632 SIGNAL CABLE RECONSTRUC FURNISH & INS	- NEW OR TED INTERSECTIO	4.000 PI N,	15,936.72000	63,746.88				
0415 0632 SIGNAL CABLE REPAIR/REPLA INSTALL		1,000.000 LF SH &	14.17000	14,170.00				
0420 0632 SIGNAL CABLE INTERSECTION	, REMOVE-	2.000 PI	3,249.03000	6,498.06				
0425 0633 FIBER OPTIC C UNDERGROUN	ABLE, F&I,	600.000 LF	169.31000	101,586.00				
0430 0633 : FIBER OPTIC C SPLICE	2 31 ONNECTION, INST	30.000 ALL, EA	72.56000	2,176.80				





Tabulation of Bids

Page 33 of 42

Letting:	04230804	4 Aug	ust 04, 2023	B Cal	Order: 002		Contract:	E4W81	
Line No /		ternate	Quantity Units	(4) SIGNAL TE AND INSTALLA					
() indicates	item is bid as Lum	o Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0003	Sig	nalization						
	3 232 CONNECTION, N	INSTALL,	5.000 EA	120.94000	604.70				
FIBER OPTIO	3 3 11 CONNECTION F&I, SPLICE EN	CLOSURE	5.000 EA	1,394.74000	6,973.70				
FIBER OPTIO	3 3 12 CONNECTION F&I, SPLICE TR	AY	5.000 EA	80.63000	403.15				
FIBER OPTIC	3 3 15 CONNECTION , F&I, PRETERMI EL	NATED	5.000 EA	2,958.79000	14,793.95				
SPAN WIRE	4 4151 ASSEMBLY, F&I, PENDICULAR	TWO	4.000 PI	23,549.34000	94,197.36				
	4 4600 ASSEMBLY, REN AIN	IOVE-	4.000 PI	4,873.53000	19,494.12				
	4 5 1 S INSULATOR, FU	JRNISH &	20.000 LF	334.98000	6,699.60				
	5 2 11 CE BOX, F&I, 13"	' x 24"	19.000 EA	2,288.75000	43,486.25				





Tabulation of Bids

Page 34 of 42

Letting:	04230804	August 04, 2023	3 Cal	l Order: 002		Contract:	E4W81	
Line No / Item		te Quantity Units	(4) SIGNAL TE AND INSTALL					
() indicates item	s bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0003	Signalization						
0475 0635 2 1 PULL & SPLICE BO COVER SIZE		20.000 " EA	3,488.37000	69,767.40				
0480 0635 2 1 PULL & SPLICE BORECTANGULAR COSIZE	OX, F&I, 30" X 60		4,809.04000	48,090.40				
0485 0635 3 1 JUNCTION BOX, F MOUNTED		6.000 ALL, EA	1,794.22000	10,765.32				
0490 0639 112 ELECTRICAL POV UNDERGROUND, BY CONTRACTOR	VER SERVICE, F METER PURCH		7,461.46000	44,768.76				
0495 0639 112 ELECTRICAL POV UNDERGROUND, REQUIRED	VER SERVICE, F	6.000 &I, AS	6,486.76000	38,920.56				
0500 0639 161 ELECTRICAL POV REMOVE OVERHI	VER SERVICE,	2.000 AS	1,299.61000	2,599.22				
0505 0639 2 1 ELECTRICAL SER & INSTALL		2,000.000 RNISH LF	7.62000	15,240.00				
0510 0639 3 1 ELECTRICAL SER F&I, POLE MOUN	VICE DISCONNE	4.000 ECT, EA	5,512.05000	22,048.20				





Tabulation of Bids

Page 35 of 42

Letting:	04230804	August 04, 202	3 Cal	l Order: 002		Contract:	E4W81	
	/ Item ID Alterna	ate Quantity Units	(4) SIGNAL TE AND INSTALLA					
	es item is bid as Lump Sui		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	ECTION: 0003	Signalization						
PRESTRES	41 2 12 SED CONCRETE POL ERVICE POLE	5.000 E, F&I, EA	4,621.56000	23,107.80				
	41 214 SED CONCRETE POL	5.000 E, F&I, EA	9,020.33000	45,101.65				
	41 216 SED CONCRETE POL	2.000 E, F&I, EA	10,707.66000	21,415.32				
	41 2 17 SED CONCRETE POL	5.000 E, F&I, EA	11,570.30000	57,851.50				
PRESTRES	41 270 SED CONCRETE POL POLE REMOVAL- POL TER		1,299.62000	1,299.62				
	46 111 SIGNALS POLE, PED	8.000 ESTAL EA	4,366.57000	34,932.56				
ALUMINUM	46 1 12 SIGNALS POLE, FUR EDESTRIAN DETECTO		3,214.87000	51,437.92				
	46 160 SIGNALS POLE, REM	4.000 OVE EA	487.36000	1,949.44				





Tabulation of Bids

Page 36 of 42

Letting:	04230804	August 04, 202	3 Cal	l Order: 002		Contract:	E4W81	
Line No / I		ate Quantity Units	(4) SIGNAL TE AND INSTALL					
() indicates	item is bid as Lump Sun	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0003	Signalization						
	21 3 ARM ASSEMBLY, FI , SINGLE ARM 40'	1.000 URNISH EA	89,684.13000	89,684.13				
	21 6 ARM ASSEMBLY, FI , SINGLE ARM 50'	1.000 URNISH EA	98,021.40000	98,021.40				
	21 8 ARM ASSEMBLY, FI , DOUBLE ARM 50'-		142,886.33000	285,772.66				
STEEL MAST	21 10 ARM ASSEMBLY, FI , SINGLE ARM 60'	1.000 URNISH EA	115,311.43000	115,311.43				
STEEL MAST	21 13 ARM ASSEMBLY, FI , DOUBLE ARM 60'-{		156,550.58000	313,101.16				
STEEL MAST	21 15 ARM ASSEMBLY, FI , SINGLE ARM 70'	2.000 URNISH EA	126,246.99000	252,493.98				
STEEL MAST	21 18 ARM ASSEMBLY, FI , DOUBLE ARM 70'-{		155,846.67000	311,693.34				
STEEL MAST	21 21 ARM ASSEMBLY, FI , SINGLE ARM 78'	2.000 URNISH EA	138,996.15000	277,992.30				





Tabulation of Bids

Page 37 of 42

Letting:	04230804	4 Augı	ust 04, 2023	Cal	Order: 002		Contract:	E4W81	
Line No / I		ternate	Quantity Units	(4) SIGNAL TE AND INSTALLA					
() indicates	item is bid as Lump	o Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0003	Sigr	nalization						
STEEL MAST INSTALL/REL	ACTOR PROVID		2.000 EA	52,748.47000	105,496.94				
STEEL MAST	26 3 ARM ASSEMBL ALLOW FOUND, ACHMENT		2.000 EA	2,924.13000	5,848.26				
VEHICULAR 1	1 14 FRAFFIC SIGNAI ISTALL ALUMIN VAY		40.000 AS	2,139.00000	85,560.00				
VEHICULAR 1	1 16 FRAFFIC SIGNAI ISTALL ALUMIN VAY		10.000 AS	2,774.46000	27,744.60				
VEHICULAR 1 FURNISH & IN	1 18 TRAFFIC SIGNAI ISTALL ALUMIN RAIGHT, 1 WAY	•	5.000 AS	3,421.99000	17,109.95				
VEHICULAR T	1 19 TRAFFIC SIGNAI ISTALL ALUMIN JSTER, 1 WAY		8.000 AS	3,932.95000	31,463.60				
VEHICULAR 1 FURNISH & IN	1 24 FRAFFIC SIGNAI ISTALL POLYCA , 3 SECTION, 1	RBONATE	5.000 AS	1,987.18000	9,935.90				





Tabulation of Bids

Page 38 of 42

Letting:	04230804	August 04, 202	3 Cal	II Order: 002		Contract:	E4W81	
Line No / I		ate Quantity Units	(4) SIGNAL TE AND INSTALL					
() indicates	tem is bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0003	Signalization						
VEHICULAR 1	1 60 RAFFIC SIGNAL, LES TO REMAIN	10.000 AS	487.36000	4,873.60				
	RAFFIC SIGNAL, ICLUDES REMOVA	5,000 AS L AND	1,787.60000	8,938.00				
VEHICULAR S	2109 IGNAL AUXILIARIE: ACE/RETROFIT- FL ACKPLATE- FLEXIB	JRNISH	1,164.22000	58,211.00				
	1 11 SIGNAL, FURNISH COUNTDOWN, 1 W		1,503.96000	15,039.60				
	1 12 SIGNAL, FURNISH COUNTDOWN, 2 W		2,698,69000	16,192.14				
0655 0653 PEDESTRIAN	1 40 SIGNAL, RELOCAT	5.000 E AS	974.71000	4,873.55				
	1 60 SIGNAL, REMOVE E/PEDESTAL TO RE		487.36000	3,898.88				





Tabulation of Bids

Page 39 of 42

Letting: 04230804 Aug	ust 04, 202	3 Cal	l Order: 002		Contract:	E4W81	
Line No / Item ID Alternate Item Description	Quantity Units	(4) SIGNAL TE AND INSTALLA					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 Sign	nalization						
0665 0654 2 21 MIDBLOCK CROSSWALK: RECTANGULAR RAPID FLASHING BEACON, FURNISH & INSTALL- SOLAR, COMPLETE SIGN ASSY- SINGLE DIRECTION	4.000 AS	18,940.75000	75,763.00				
0670 0654 2 22 MIDBLOCK CROSSWALK: RECTANGULAR RAPID FLASHING BEACON, FURNISH & INSTALL- SOLAR, COMPLETE SIGN ASSEMBLY- BACK TO BACK	2.000 AS	20,243.35000	40,486.70				
0675 0654 2 60 MIDBLOCK CROSSWALK: RECTANGULAR RAPID FLASHING BEACON, REMOVE COMPLETE SIGN ASSEMBLY	5.000 AS	2,436.77000	12,183.85				
0680 0660 3 11 VEHICLE DETECTION SYSTEM- MICROWAVE, FURNISH & INSTALL CABINET EQUIPMENT	2.000 EA	15,987.47000	31,974.94				
0685 0660 3 12 VEHICLE DETECTION SYSTEM- MICROWAVE, FURNISH & INSTALL, ABOVE GROUND EQUIPMENT	2.000 EA	17,993.67000	35,987.34				
0690 0660 4 11 VEHICLE DETECTION SYSTEM- VIDEO, FURNISH & INSTALL CABINET EQUIPMENT	2.000 EA	11,756.06000	23,512.12				





Tabulation of Bids

Page 40 of 42

Letting: 04230804	4 August 04, 2	023 Ca	II Order: 002	Co	ontract:	E4W81	
Line No / Item ID Alt	ternate Quantity Units	(4) SIGNAL TE AND INSTALL					
() indicates item is bid as Lum	p Sum	Unit Price	Ext Amount	Unit Price Ext An	nount	Unit Price	Ext Amount
SECTION: 0003	Signalization	1					
0695 0660 4 12 VEHICLE DETECTION SYSTE FURNISH & INSTALL ABOVE EQUIPMENT			90,348.48				
0700 0660 4 41 VEHICLE DETECTION SYSTE RELOCATE CABINET EQUIP			11,371.58				
0705 0660 4 42 VEHICLE DETECTION SYSTE RELOCATE ABOVE GROUND EQUIPMENT			30,822.96				
0710 0660 4 60 VEHICLE DETECTION SYSTE REMOVE	4.000 EM- VIDEO, EA		3,898.84				
0715 0663 1400 SIGNAL PRIORITY & PREEMI SYSTEM, RELOCATE	4.000 PTION EA		3,898.84				
0720 0665 1 11 PEDESTRIAN DETECTOR, FUINSTALL, STANDARD	32.000 JRNISH & EA		23,048.64				
0725 0665 1 12 PEDESTRIAN DETECTOR, FUINSTALL, ACCESSIBLE	8.000 JRNISH & E <i>F</i>		54,159.60				
0730 0665 1 40 PEDESTRIAN DETECTOR, RI	4.000 ELOCATE EA		3,898.84				





Tabulation of Bids

Page 41 of 42

Letting:	04230804	August 04, 202	3 Cal	II Order: 002		Contract:	E4W81	
Line No / Ite Item Descri		ate Quantity Units	(4) SIGNAL TE AND INSTALL					
() indicates it	em is bid as Lump Su	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	ΓΙΟΝ: 0003	Signalization						
	1 60 DETECTOR, REMO AL TO REMAIN	4.000 DVE- EA	324.91000	1,299.64				
0740 0670 TRAFFIC CON' F&I, NEMA	5110 TROLLER ASSEME	2.000 BLY, AS	54,733.82000	109,467.64				
0745 0670 TRAFFIC CON F&I, NEMA, 1 F	TROLLER ASSEME	1.000 BLY, AS	54,733.83000	54,733.83				
	5140 TROLLER ASSEME STALL MODEL 207	·	54,733.83000	54,733.83				
	5600 TROLLER ASSEME TROLLER WITH CA		4,873.53000	4,873.53				
FURNISH & IN:	LD ETHERNET SW STALL		6,186.04000	24,744.16				
	0003 Signalization	Section Totals:		\$4,359,253.83				

\$6,419,602.14

Contract Grand Totals:



08/04/2023

Tabulation of Bids

Page 42 of 42

Letting: 04230804 August 04, 2023 **Cal**

Call Order: 002

Contract:

E4W81

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.